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Find the Missing Link 

The associative property of addition tells us that when groups of numbers are 
added in any order, the sum remains the same.  Look at the number sentences 
below, fill in the missing addend to complete the number sentence. 

 

9   +   3   +   2       =      2   +    3    + _______ 

 

 

12   +   4   +   4      =     4   +    4    +  _______ 

 

 

7   +   5   +   0      =      0   +    5    +  _______ 

 

 

13   +   4   +   1      =      1   +    4    + _______ 

 

 

6   +   2   +   3       =     3   +    2    + _______ 
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Find the Missing Link 

Answer Key 

 

9   +   3   +   2       =      2   +    3    +    9 

 

 

12   +   4   +   4      =     4   +    4    +   12 

 

 

7   +   5   +   0      =      0   +    5    +    7 

 

 

13   +   4   +   1      =      1   +    4    +    13 

 

 

6   +   2   +   3       =     3   +    2    +    6 
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